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And if they began, they are not required to interrupt

OVERVIEW

The 71wn rules that if they began any of the activities mentioned in the miwn
which is prohibited from 7127 7m0 onwards they may continue this activity
and are not required to interrupt it. N0 explains that this leniency applies
even if they began this activity at such time when they we not permitted to
begin' (and not only if they began when they were permitted to begin®).

moon explains [and proves] that this leniency of P09 PR 12°1nn oRY applies -
— 90N 12NNN 1D2ON

Even if they began doing this activity when it was prohibited -
— 213099 ¥ 151093 2919 1192 PRI 7972 AW 2 %33 (v,n5 91 D102 NNTD

As is evident in ;7270 noon regarding the 71wn which states, if someone
came from a trip and he was not in possession of a 2 (while he was
traveling), he observes 179 mxn while he is eating by his table; this
concludes the mwn -

— 1925091 PR IPNND BN PN XN PPIOINT XINIY 75999
And the X723 asks; ‘do you mean to say that he interrupts his meal in
order to be 2717 m¥» o»pn, but we learnt in a mwn, if they began cating,

they are not required to interrupt’; this concludes the citation from the X3 -
— *NYD 93T RIDYNT NOIN 1IINNN 291 %2 90213 199NNNA KINT 53U K

But the X773 did not answer this contradiction, by saying, here (in the 7wn
of n2w) we are discussing a case where they began eating legally (before
the time of 1man (7 7o), and regarding 271 they began eating illegally,

for the time of 2912 mxn is from the morning. This would reconcile the two
nawn. The fact that the X773 did not give this answer indicates that the X723 assumes that
our mwn» which states 1051 X 12°1in7 oK applies even when they began eating MoX2.

mooin offer an additional proof that 1097 1°X applies even if 0K 12> 1n:

" This would be (even) after the proper 11 of 7inan began.

% This would (seem to) be before mI? 7m0 when there is no MR to begin. See however X"wamn.

? The expression 1MW ¥ indicates (as is evident from the following question) that he must interrupt his
meal for 2717 M¥» as soon as the 2717 becomes available to him. See *"w1 there 21> 7"7.

* The xm there is referencing our 7awn.

> The time of 227> n%°v1 is right in the morning; one should not eat until he is Y0 the 2215.
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And this is also what is indicated in the =23 which states, ‘as soon as he
unties his belt to eat, we do not trouble him’ to stop and daven 2 wn.”

mooIn offers a final proof that 1°»°057 X applies even if M0°R2 12°1N::

V) 12 YYWINY 2297 NNAH MHNN NNYY 23) NIIa 811\0‘,7‘1 N ) AU»HNN
And, by assuming that 7»°05n PR means MOX2 172°1n7 12°0R, this will also
resolve the difficulty in our 8923 regarding the question, ‘shall we say that
there is a refutation of %''3v9’ from our mwn.

SUMMARY
The ruling of Pp>051 PR 12’107 OX applies even if M0°X2 12 1N

THINKING IT OVER

moon offers three proofs that 1PP°0on PR applies even if M0°R2 12°1n7; the
main proof is from 109510 'on and the other two from the X3 here. [How] is
the proof from 71310 stronger than the proofs from the X713 here, that noo1N
offers it as his main proof?!

% At the bottom of this T1ny.

7 »ax there states that if we maintain M2 N°27Y NN (that 27y is not an obligatory prayer) then if one
untied his belt (at night) in preparation for a meal (before he was 21 %25nn) he is not required to interrupt
and may continue until he finishes his meal (and then daven 2°7¥n). The X713 asks that this indicates that
according to the 7"n that 72w n°27v n29n, he is required to interrupt, and first daven 2vn (before he
continues with his meal); but 7711 n%5n is definitely a 7211 and yet the 71w states 1057 1°X ¥2°1n7 oX). The
X713 could have seemingly answered that by nnan n2on the miwn is discussing where 2012 12°1n77 (before the
a1 of M1 n9an) therefore PP°0o7 1R 12°1NT OX, however »axR was discussing that he was 7°1°1n77 W after the
11 of 2°7wn (for there is certainly no 710°X to begin a meal before nightfall), and therefore if we maintain
721 n°29y non, the rule would be that 1097 19°1n7 oX. Since the Xn3 does not offer this answer this
proves that the 1°2°097 PR 12°1in;7 oX of our MWwn is even in a case where M0°X12 12°1N7 (see R"WInn).

¥ See xm*» 11"7 'oIn (footnote # 9).

? 93 states that a person may not taste anything once the time of 7 begins unless he first davens ann.
It is assumed that 2"2>7 means even if they began to eat they must stop and daven i (see Xn°2 1"7 '0In).
This seems to contradict our 73wn which states 7p°0on 1R 12107 oX. The X3 could have resolved this
contradiction by saying that our 771wn is discussing where they began eating 7n°72 (as opposed to the case of
5"2% where 10°%2 172’107 [for he says 21 ana 1ar 2anw 110]). The fact that the 83 did not give this answer
proves (again) that 1°2°097 X means TI0°X2 12°1IN7T 12°9X.

' mpoin uses the term ' m72' regarding the proof from 7210, and the terms 'yawn' and '2w>»n"' regarding the
other two proofs.
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